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Identify the choice that best completes the statement or answers the question.

1. A caris traveling down a straight road at 15.0m/s accelerates uniformly to a speed of 21.0m/s in 12.0.

seconds. The total distance traveled by the carinthis.12.0 send time interval is?
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Train A is 5000m away from train “b” moving east at 5m/s-with an acceleration of Om/s? and Train B is
moving west at 2m/s slowing down at 0.1m/s2. How much time is required for the trains to collide?

a. 253 sec — (W

b. 393sec d. s will stop before colliding.

3. A stick is thrown at 5.0m/s into a pumpkin and sticks Scm into the front of it. Using the formula below
rearrange the formula to determine the acceleration of the stick as it sticks into the pumpkin.
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4. A stick is thrown at 5.0m/s into a pumpkin and sticks 5cm into the front of it. Using the formula below >

rearrange the formula to determine the acceleration of the stidk as it sticks into the pumpkin.

Z
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5 A student is-holding a meter stick in the middle at the 50cm mark. If the student lets go allowing the meter
stick to fall. She then closes her fingers as fast as possible. After which she notices that she now holds the
stick at the 35cm mark. How much time was the meter stick in free fall?

a. ~ 0.07sec ¢, 0.03 sec
b. 0.17 d 02
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6. A ball is rolling on long a downward 5° decline with a velocity of 2m/s and an acceleration of 3.0 m/s2.
Answer the following question.
a. After rolling down the hill for 3 seconds
i. How fast is the ball going?

V= Ui tak Qt 3.003) = Wmlg
ii. How far did the ball travel?
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iii. At this point, draw a vector representing its motion.

b gte 4SS
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iv. Calculate the X and Y components of velocify.

b+ B

7. A 50g steel ball was rolling up a 15° ball with an initial velocity of 20m/s. The ball rolled 1.5m up the ramp
until the ball stopped. -

a. What is the acceleration of the ball?

b. How much time was needed for the ball to stop?
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